
What is Politics?



Politics is the subset of human behavior that involves the use of
power or influence.

Power is involved whenever individuals can’t accomplish their goals
without either trying to influence the behavior of others or trying
to wrestle free from the influence exerted by others.



Who has power, where does it come from, and when is it used?



How will a citizen react to a negative change in their environment?

• The government increases taxes.

• The government imposes a ban on handguns.

• The Supreme Court rules that prayer in public schools is unconstitutional.

• The quality of peaches at their local fruit stand declines.



Exit: Accept the negative change but alter one’s behavior to
optimize in the new environment.

Voice: Do not accept the negative change and seek to ‘persuade’
the government to reinstate the original environment.

Loyalty: Accept the negative change and make no change to one’s
pre-existing behavior.
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Choosing to use voice means not accepting the negative change in your environment and 

instead seeking to “persuade” the government through protesting, lobbying, or other forms of 

direct action to reinstate your original environment. If the government increases your tax rate, 

you might, for example, join an antitax protest to pressure the government to reverse its tax 

hike. Similarly, if the importation of fuel-efficient cars is having negative effects on your auto-

mobile firm, you could consider lobbying the government to place import restrictions or tariffs 

on these cars.

Choosing to demonstrate loyalty means accepting the negative change in your environment 

but not altering your preexisting behavior. For example, if the Supreme Court rules that prayer 

in public schools is unconstitutional, you could accept the situation and keep your children in 

the public school system.

In Table 3.1, we illustrate what it means to use exit, voice, or loyalty in response to several 

potentially negative changes in your environment.

Consider the situation in which the government introduces a policy—say, a tax hike—that 

negatively affects the environment of one of its citizens. How should the citizen respond? When 

should the citizen choose to exit, use voice, or remain loyal? The citizen’s choice will depend on 

what they expect to happen when they choose one of these options. For the citizen to know what 

to do, they need to know what the government would do if they used voice. On the one hand, 

the fact that the citizen complains or protests might cause the government to respond positively 

by reversing its tax hike and restoring the citizen’s original environment. On the other hand, the 

government might simply ignore the citizen’s use of voice. If the government did ignore them, 

the citizen would have to decide what to do next. After all, even though the citizen’s use of voice 

failed, they’d still have the choice of exiting or remaining loyal. What should the citizen do? 

What should the government do?

The problem facing the citizen and government is complicated because the citizen’s choice of 

what to do depends on what they think the government will do, and the government’s choice of 

what to do depends on what it thinks the citizen will do. This strategic aspect of social interactions 

Stimulus Exit Voice Loyalty

The government 

increases taxes.

Reallocate portfolio 

to avoid tax increase

Organize tax revolt Continue to pay 

taxes, keep your 

mouth shut

There is a decline in the 

quality of peaches at 

the local fruit stand.

Buy mangoes, or buy 

peaches somewhere 

else

Complain to the store 

owner

Continue to eat 

peaches, keep your 

mouth shut

The Supreme Court 

rules that prayer 

in public schools is 

unconstitutional.

Homeschool your 

children

Lobby the government to 

change the Constitution

Keep your children 

in the public school 

system, keep your 

mouth shut

Your state outlaws 

handguns.

Move to a different 

state

Join the NRA or a militia 

group to put pressure on 

the state to allow handguns

Turn in your 

handguns, keep 

your mouth shut

TABLE 3.1 ■    Exit, Voice, and Loyalty



So, how should the citizen react to the negative change in their
environment?

Much presumably depends on what the citizen thinks the
government will do.



So, how should the citizen react to the negative change in their
environment?

Much presumably depends on what the citizen thinks the
government will do.



Respond: Respond positively and reinstate the original
environment.

Ignore: Ignore the citizen and maintain the new environment.



Game theory is a fundamental tool for analyzing strategic
situations.

In a strategic situation, the choices of one actor depend on the
choices made by other actors.

We can think of the decisions to be made by the citizen and the
government as a game.



A game is a situation in which an individual’s ability to achieve
their goals depends on the choices made by other actors.

Games have players and rules about how decisions are made.

The basic rule is that players choose to do what they believe is in
their best interest.



The interests of the players are reflected in the payoffs associated
with each of the possible outcomes in a game.

Players prefer outcomes with higher payoffs.



Two common ways of modeling strategic interactions:

Extensive Form Games → sequential choices.

Normal Form Games → simultaneous choices.
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An extensive form game consists of choice nodes linked in a
sequence.

A choice node is a point in the game at which a player must
choose an action.

The initial node is the place where the game begins.

The branches represent the actions that can be taken at the choice
nodes.

A game tree is the entire specification of choice nodes, branches,
and payoffs.



The Exit, Voice, and Loyalty (EVL) Game



Prehistory . . .

• There’s been a negative shock resulting in a transfer of some
benefit from the citizen to the government.

• The negative shock might be a tax increase.

Citizen must decide whether to exit, use voice, or remain loyal.



Loyalty

Government

CitizenO1: Government keeps benefit;
citizen opts for some substitute

Respond Ignore

Citizen

Exit

Exit

Loyalty

O2: Government keeps
benefit; citizen suffers loss

O3: Government returns
benefit to citizen

O4: Government keeps benefit;
citizen opts for some substitute

O5: Government keeps
benefit; citizen suffers loss

Voice
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Turning Outcomes into Payoffs
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What do you expect the players to do in this game? To answer this question, we need to know 

how the players value the different possible outcomes. In Table 3.2, we indicate the payoffs that the 

players associate with each of the five possible outcomes. If the citizen chooses to exit at any point in 

the game, they get what we call their “exit payoff.” We arbitrarily set the value of the citizen’s exit pay-

off at E. The precise value of E in any specific situation will depend on the attractiveness of the citi-

zen’s exit option. Some citizens have more attractive exit options than others. For example, educated 

and wealthy citizens are likely to have a more valuable exit option than less educated and poor citizens 

because they have more options open to them if there’s a negative change to their environment. If 

the citizen chooses to remain loyal at any point in the game, they accept the loss of their benefit, 

and they get nothing, 0. We assume that the use of voice is costly for the citizen, because protesting, 

complaining, lobbying, and taking direct action all require effort that could be put to an alternative 

use. Depending on the country in which they live, voice might be costly in other respects as well. For 

example, one’s involvement in a protest might be met by imprisonment, loss of employment, or even 

death. In other words, the degree of government repression will likely affect the citizen’s cost of using 

voice. For these reasons, the citizen must pay a cost, c > 0, whenever they choose to use voice.

If the government gets to keep the benefit it transferred from the citizen in the prehistory of 

the game, the government gets a payoff of 1.5 We could have chosen any positive number to rep-

resent this payoff, but 1 is the easiest for presentational purposes. Whenever the citizen chooses to 

remain loyal, the government also receives a positive loyalty payoff, L > 0. This additional loyalty 

5 In effect, the citizen had a payoff of 1 in the prehistory of the game but the government took it from them, leaving them 

with nothing. This explains why the citizen receives a payoff of 0 when they choose to remain loyal in the game.

Outcome Description Citizen Government

O1 The government keeps the benefit but 

loses the support of the citizen. The 

citizen opts for some substitute.

E 1

O2 The government keeps both the benefit 

and the support of the citizen. The citizen 

suffers their loss in silence.

0 1 + L

O3 The government returns the benefit to 

the citizen and keeps their support.

1 – c L

O4 The government keeps the benefit but 

loses the support of the citizen. Having 

used their voice, the citizen opts for some 

substitute.

E – c 1

O5 The government keeps both the benefit 

and the support of the citizen. Having 

used their voice, the citizen suffers their 

loss.

0 – c 1 + L

Note: E = citizen’s exit payoff; 1 = value of benefit taken from the citizen by the government; L = government’s value 
from having a loyal citizen who does not exit; c = cost of using voice.

TABLE 3.2 ■    Turning Outcomes into Payoffs



Exit Loyalty

Government

0, 1 + LE, 1

Respond Ignore

Citizen

Exit Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L

Voice

Citizen
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Solving the EVL Game



A rational player does what they believe is in their best interest
given what they know at the time.

A subgame perfect equilibrium is an important solution concept for
extensive form games in which all actors do the best they can at
every point where they could possibly make a decision.



A subgame perfect equilibrium can be found using a method
known as backward induction.

Backward induction is the process of reasoning backward, from the
end of the game or situation to the beginning, in order to
determine an optimal course of action.



Assumptions: Citizen Has a Credible Exit Threat (E > 0) and
Government is Dependent (L < 1)

Exit Loyalty

Government

0, 1 + LE, 1

Respond Ignore

Citizen

Exit Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L

Voice

Citizen
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Solving the EVL Game when the citizen has a credible exit threat (E > 0):
Step 1

Exit Loyalty

Government

Citizen

Scenario 1

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Solving the EVL Game when the citizen has a credible exit threat (E > 0) and
the government is dependent (L > 1): Step 2

Exit Loyalty

Government

Citizen

Scenario 1

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Solving the EVL Game when the citizen has a credible exit threat (E > 0), the
government is dependent (L > 1), and E < 1− c: Step 3

Exit Loyalty

Government

Citizen

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit

The subgame perfect equilibrium is (Voice, Exit; Respond)

Scenario 1

Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Solving the EVL Game when the citizen does have a credible exit threat
(E > 0), the government is dependent (L > 1), and E < 1− c

Exit Loyalty

Government

Citizen

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit

The subgame perfect equilibrium is (Voice, Exit; Respond)

Scenario 1

Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Subgame perfect equilibrium: (Voice, Exit; Respond)

Observed outcome: Citizen uses voice and government responds.

Payoffs: Citizen obtains 1− c and government obtains L.



Solving the EVL Game when the citizen does not have a credible exit threat
(E < 0), the government is dependent (L > 1), and E < 1− c

Exit Loyalty

Government

Citizen

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit

The subgame perfect equilibrium is (Loyalty, Loyalty; Ignore)

Scenario 2

Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Subgame perfect equilibrium: (Loyalty, Loyalty; Ignore)

Observed outcome: Citizen remains loyal.

Payoffs: Citizen obtains 0 and government obtains 1 + L.



Solving the EVL Game when the citizen does have a credible exit threat
(E > 0), the government is autonomous (L < 1), and E < 1− c

Exit Loyalty

Government

Citizen

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit

The subgame perfect equilibrium is (Exit, Exit; Ignore)

Scenario 3

Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Subgame perfect equilibrium: (Exit, Exit; Ignore)

Observed outcome: Citizen exits.

Payoffs: Citizen obtains E and government obtains 1.



Solving the EVL Game when the citizen does not have a credible exit threat
(E < 0), the government is autonomous (L < 1), and E < 1− c

Exit Loyalty

Government

Citizen

Voice

0, 1 + LE, 1

Respond Ignore

Citizen

Exit

The subgame perfect equilibrium is (Loyalty, Loyalty; Ignore)

Scenario 4

Loyalty

E − c, 1

1 − c, L

0 − c, 1 + L
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Subgame perfect equilibrium: (Loyalty, Loyalty; Ignore)

Observed outcome: Citizen remains loyal.

Payoffs: Citizen obtains 0 and government obtains 1 + L.



Summary of Subgame Perfect Equilbria and Outcomes
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loyal at the beginning of the game. If the citizen had used their voice, the government would 

have ignored them, at which point the citizen would have decided to remain loyal. The observed 

outcome of this game is that the citizen remains loyal from the beginning and the government 

gets to keep the benefit. The payoffs associated with this outcome are 0 for the citizen and 1 + L 

for the government, that is, (0, 1 + L).

EVALUATING THE EXIT, VOICE, AND LOYALTY GAME

What can we learn from these various scenarios in the EVL Game about the balance of power 

between citizens and the government? A summary of the subgame perfect equilibria with their 

expected outcomes is shown in Table 3.3. Several important conclusions about the power rela-

tionship between citizens and governments can be learned from this game. The first is that the 

citizen is able to exert power over the government only when two conditions are met: (1) the 

citizen must have a credible exit threat (E > 0) and (2) the government must be dependent on 

the citizen (L > 1).7 You might have thought a citizen could exert influence over the government 

whenever they have a credible exit threat. But this is clearly not the case. The government must 

also be dependent for the citizen with a credible exit threat to be able to influence it. A citizen 

with a credible exit threat does have an advantage in relation to one without such a threat, 

because the citizen with a credible exit threat has the realistic option of exiting, whereas the 

other citizen doesn’t. Our point here, though, is that having a credible exit option itself isn’t 

sufficient for the citizen to be able to exert influence over the government. Put differently, an 

autonomous government will never respond positively even if the citizen has a credible exit 

threat.

7 You might be wondering why a government would ever be dependent on a single citizen. They probably wouldn’t be. 

However, we can easily think of the citizen in the Exit, Voice, and Loyalty Game as representing some collective group or 

voting bloc. Obviously, for individuals to exert influence as a group, they must be able to collectively mobilize and organize. 

This can be difficult. Social scientists refer to the difficulties that individuals face when trying to mobilize as a group as 

collective action problems and we’ll examine them in some detail in Chapter 8. While we don’t wish to underestimate the 

difficulties that citizens face in overcoming collective action problems, our primary focus here is on understanding the 

power relationship between citizens and governments when collective action problems either don’t exist or have already 

been solved. In this respect, the Exit, Voice, and Loyalty Game indicates that while overcoming collective action problems 

may be necessary for citizens to be able to influence the government, it is far from sufficient.

The Government

The citizen

Is autonomous

(L < 1)

Is dependent

(L > 1)

Has a credible exit threat

(E > 0)

(Exit, Exit; Ignore)

Outcome 1

(Voice, Exit; Respond)

Outcome 3

Has no credible exit threat

(E < 0)

(Loyalty, Loyalty; Ignore)

Outcome 2

(Loyalty, Loyalty; Ignore)

Outcome 2

TABLE 3.3 ■    Summary of Subgame Perfect Equilibria and Outcomes



Evaluating the EVL Game



The government responds positively to voice only if

1. the citizen has a credible exit threat

and

2. the government is dependent on the citizen.

Think about what this means for your life!



In the absence of a credible exit threat, the citizen is a sitting duck!

The government can take away their benefits, and there’s nothing
they can do about it but accept the new state of affairs.



It’s sometimes difficult to draw inferences from real-world
observations.

While it’s always possible to infer the citizen’s type by observing
their actions, this isn’t the case with the government.

Voice, or the lack thereof, can’t be taken as a straightforward
revelation of citizen preferences.



Why would a dependent state ever take a benefit away from
citizens with credible exit threats?

It wouldn’t!



Why would a dependent state ever take a benefit away from
citizens with credible exit threats?

It wouldn’t!



Power isn’t always observable.

This poses a big problem for empirical political science.

When power is most potent, it’s least likely to be used.

• Voice ̸= Power.

• Presidential vetos.



 

• Structural dependence of the state
on capital.

 

• Different economic sectors.

• 2008 US Bailout, click here

http://www.youtube.com/watch?v=UMJ2BU0CDT0


The model suggests that citizens use voice only when it’s effective.

But we often see governments ignoring citizens who are protesting.
Why?

1. Voice may be a benefit rather than a cost.

2. Incomplete information.
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